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2x+3x(6—x)+4=2y+3-(9-y)
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6. Ifa, b, and c are prime numbers and a+b+c+abc=99, then what is the value of
1 1} |1 1} |1 1 2 17 4 15
— -——?A) = B) — (C) — (D) =
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a bl |b c
<FlEE>tHla b c BB Ha+b+c+abe=99 > H ———‘ ‘Z_l - =2.2571>7
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7. In quadrangle ABCD with < ABC =-CDA =90° and AB=3, BC=4, CD=2. The
area of quadrangle ABCD is m++/n, m * n are positive integers and n can’t be divided by
the square of any prime number, then m + n= . (A)23 (B)25 (C)27 (D)29

<EEE>1EUU#ET ABCD 1 » <~ ABC=-CDA=90° > HAB=3, BC=4, CD=2 - IUiE
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FRIE S EH AB +BC =AC =AD +DC » AD=+32+42-22 =421
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EXLB:x" » .". ZAEF = /B + /BCE = 2x°
AD=BD ’ .". ZBAD = /B=x°
ZDFE B /\AEF [y45MN4
". /DFE = /BAD + Z/AEF = x°+ 2x° = 3x°
. /DFE: /AEF=3:2
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5. Subtract 100 from its % , and then subtract % of the remaining.... etc. Until ﬁ of the

remaining is subtracted. What is the final number?

<EFEE>RF 100 ;‘J@Z%EE’\J% ’EEJEZQE?EUTEI’\J% o DAEEEHE E@J/UZZ@?JTE’]I 0 &
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1 1 123 99 1
100-(1=2)(1=3) v (I_W)_IOOE'?Z ...... og =100 =1 e
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NN=p?-dq=n* D (p+2) -n* =88=2"x11  (p+24+n) Fll (p+2-n) BFIZHE - TEFE BB

B Ry Jtt(“j”) “’*j"”:mz ) 22 7%273:4 A5 A {E -

7. WA BD:CD=3:2 » AE:ED=3:1 » H|/AABE : AABC=
<figeffr>

(1)AABD:AABC =BD:BC =3:5

(Q)AABE :AABD = AE: AD =3 :4

.".AABE : AABD : AABC =9:12:20

.. AABE : AABC =9:20 ©

8. MiE—HABEER N B ABH -5 7 - RIS E 2B R 280 Bl

22-12=3 > 32-22=5>4*-3"=7 > 3 .1°=8 » ... [EEZREFIF > 1 3 FALE 0 5 2021
&S 82 °
<ft>

5171819 |11]12]13]15]16

3
AR R AR AR AR ANEN'

a, | a, | dz | a, | ds | Qg | Ay | dg | Qg | Gy

a,=a;,x0+2=5=4x1+1
as=a,x1+2=9=4x2+1
ag=a;x2+2=13=4x3+1

Ay =y X673 +2=4%674+1=2697 ©
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S H FH 1 100x JT

HIJZEF]ES: y =(3000+100x)(80— x)—300(80 — x)

J550: y=—100x* +5000x + 240000 — 24000 + 300x

=—100x> +5300x + 216000
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2. HE > 5% 1R RIAABC BYAIL » £C=90° » T#EBC ~ AC ~ AB¥E &3 D~ E
F> WYJEER Br » BC=a > AC=b > AB=c > K25 AABC [Hf&= AF x FB

<5§‘Eﬁ> c
D E ~ F BUVJEL E
.AE=AF ~ CE=CD -~ BD=BF

p_—qi&“,ﬁ/ [ECD E[j 1

""IE=ID=r [ £C=ZCEI = ZCDI =90°
" VU IECD B iFE TP

ACxBC =2xAABC

(AF+7)x (BF+7)=2x AABC

—> AFxBF + #(AF+ BF) +r? = 2x AABC

%Exﬁ:+rﬁ3+er:2xAABC

%Exﬁ:+rx(ﬁ3+W):2xAABC

—>A_Fxﬁ:+r><AC+B2C+AB=2xAABC

—> AFxBF + AABC = 2 x AABC
— AFxBF = AABC
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